Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

### **KANSAS CORPORATION COMMISSION**

**OIL & GAS CONSERVATION DIVISION** 

1265113

March 2009 Type or Print on this Form Form must be Signed All blanks must be Filled

Form CP-4

## WELL PLUGGING RECORD K.A.R. 82-3-117

Name:	Spot Description:
Address 1:	Sec Twp S. R East West
Address 2:	Feet from North / South Line of Section
City: State: Zip: +	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ( )	NE NW SE SW
Type of Well: (Check one)   Oil Well   Gas Well   OG   D&A   Cathodic     Water Supply Well   Other:   SWD Permit #:   SWD Permit #:	County: Well #: Uell #: Date Well Completed: (Date) by: (Date) by: (KCC District Agent's Name) Plugging Commenced: Plugging Completed: Plugging
Depth to lop: Bottom: I.D	

Show depth and thickness of all water, oil and gas formations.

Oil, Gas or Water	r Records		Casing Record (Surfa	ce, Conductor & Produc	tion)
Formation	Content	Casing	Size	Setting Depth	Pulled Out

Describe in detail the manner in which the well is plugged, indicating where the mud fluid was placed and the method or methods used in introducing it into the hole. If cement or other plugs were used, state the character of same depth placed from (bottom), to (top) for each plug set.

Plugging Contractor License #:		Name:		
Address 1:		Address 2:		
City:		State:	Zip:	+
Phone: ( )				
Name of Party Responsible for Plu	Igging Fees:			
State of	County,	, SS.		
	(Print Name)		or or Operator on abo	
haina first duby success an asthe say	a. That I have leased along of the faste	atatamanta and matters barain contained and the l	an of the chour departhed u	vall is as filed and

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.

#### Submitted Electronically

Con	SOLIDATED	R	REMIT TO			MAIN OFFICE
ALL	Vell Services, LLC	P.C	Oil Well Services,LLC Dept:970 D.Box 4346 I,TX 77210-4346		620/431-921	P.O.Box884 Chanute,KS 66720 0,1-800/467-8676 Fax 620/431-0012
Invoice				Invoice#	805	448
Invoice Date: 0	08/21/15		Terms: Net 30		Page	1
CULBREATH OIL	& GAS CO.INC					
3501 South Yale TULSA OK 7413 USA			BAKEF	R 1-22		
9187493508						
					<b>D</b> :	 T-4-1
Part No CE0450	Description		Quantity		Discount(%)	<b>Total</b> 1,050.00
CE0430	Cement Pump Cha Equipment Mileag	-	1.000 30.000	1,500.0000 7.1500	30.000 30.000	150.15
	Equipment					
CE0710	Cement Delivery C		1.000	541.8000	30.000	379.26
CC5829	Lite-Weight Blend	V (60:40:4)	240.000	16.0000	30.000	2,688.00
CC6075	Celloflake		60.000	2.0000	30.000	84.00
CP8228	8 5/8" Wooden Plu	ıg	1.000	165.0000	30.000	115.50
					Subtotal	6,381.30
				Discounte	d Amount	1,914.39
				SubTotal After	Discount	4,466.91
				Amount D	0ue 6,711.30 lf p	aid after 09/20/15
					Tax:	231.00
					Total:	4,697.91

BARTLESVILLE, OK 918/338-0808

EL DORADO,KS 316/322-7022

EUREKA, KS 620/583-7554

PONCA CITY, OK 580/762-2303

OAKLEY, KS 785/672-8822

2A	2	DHD				3.5
CONSOLIE		MIL		TICKET NUME		516
Oil Well Servi	E99, LLC:	3828	10-140		arciey,10	CS
		woraz	TOUTIO	FOREMAN J		chesill
PO Box 884, Chanute, KS 66				ORT °	erry yate	
620-431-9210 or 800-467-867		CEMEN	-	·····		14.5
DATE CUSTOMER #	WELL NAME & NUM	BER	SECTION	TOWNSHIP	RANGE	COUNTY
8/20/15 2777	Bakes 1-22		22	145	34W	Losan
CUSTOMER ( LIN )	11.	monmat			a its star	
COLDR	ath	W to Rosse		DRIVER	TRUCK #	DRIVER
MAILING ADDRESS		Ninto	155	mike R		
			460	Lance R		ļ
CITY	STATE ZIP CODE		714/			
		<u></u>	703			
JOB TYPE PIUG	HOLE SIZE 7 18	HOLE DEPTH	400680	CASING SIZE & W	EIGHT	
CASING DEPTH	DRILL PIPE 4 1/2	TUBING			OTHER	
SLURRY WEIGHT	SLURRY VOL	WATER gal/s	k	CEMENT LEFT In	CASING	
DISPLACEMENT	DISPLACEMENT PSI	MIX PSI		RATE		
REMARKS: Safter Mee	ting Rigged up on	ww2	Mixed 5	osis Q2	2390	
Mixed 100 SKS Q	1300; Mixed 50 SKS	@ 353	10 555 Q. 40	o' mixed	30 SKS in	RH
				18 5% WOOD P	144	
	in the second	den nor an				

			ThanKYOU	
			Serancy Jorn	Y
			\$ Cress	•
ACCOUNT CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT		TOTAL
CE0450	1	PUMP CHARGE	1510092	1500 =
CE0002	30	MILEAGE	7.15	21450
CE071	10.32	Ton Mileoge.	1.75	54180
CE5829	240	Light Weight Blend V 60:40:4)	1600 00	3840.00
CC6075	6016	FLOSLE	200	120 -
CP8228	1	8% wood plug	165.00	16500
				4
		-		
			Schotatal	61351:50
			- 30% Disc	1414.39
			Sub tutal	4466.91
13 E				
	1	/		
	/		SALES TAX	231.00
avin 3737	Voyme 1	X	ESTIMATED	4697.91
	K K		DATE	

AUTHORIZTION

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.



P.O. Box 205803 Dallas, TX 75320-5803

Voice: (832) 482-3742 Fax: (832) 482-3738

#### Bill To:

Culbreath Oil & Gas Co., Inc. 3501 S Yale Ave Tulsa, OK 74135

## INVOICE

Invoice Number: 150527 Invoice Date: Aug 10, 2015 Page: 1

Federal Tax I.D.#: 20-8651475

# D15024

Customer ID	Field Ticket #	Payment	Terms
Cul	67835	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Aug 10, 2015	9/9/15

Baker 1-22

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Baker #1-22		
190.00	CEMENT MATERIALS	Class A Common 160 Surface	17.90	3,401.00
357.00	CEMENT MATERIALS	Gel	0.50	178.50
536.00	CEMENT MATERIALS	Chloride	1.10	589.60
202.27	CEMENT SERVICE	Cubic Feet Charge 8	2.48	501.63
281.40	CEMENT SERVICE	Ton Mileage Charge	2.75	773.8
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
30.00	CEMENT SERVICE	Pump Truck Mileage	7.70	231.00
30.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	132.00
1.00	JOB DISCOUNT	Job Discount if paid within terms Material	2,001.16	-2,001.10
1.00	JOB DISCOUNT	Job Discount if paid within terms Cement Service	1,512.36	-1,512.3
1.00	JOB DISCOUNT	Paul Beaver		
1.00	EQUIPMENT OPERATOR	Brandon Wilkinson		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy Add Discount gross amo	t 40	
		M gross amo SCANN	int D	
	ES ARE NET, PAYABLE	- 7493.27 Put Disco	unt box	
30 DAYS	FOLLOWING DATE OF 🖉	-3513.53 UIS Subtotal	/	3,806.31
INVOICE	E. ONLY IF PAID ON OR BEFORE	Sales Tax		173.44
	Aug 10, 2015	Total Invoice Amount		3,979.75
1	1/2% CHARGED	Payment/Credit Applied		
	THEREAFTER.	TOTAL		3,979.75

	S SERVICES, LLC
Federal Tax I.E	0.#20-5975804 007033
REMIT TO P.O. BOX 93999	SERVICE POINT: Ogiclay KS
DATE 8-10-15 SEC 22 TWP. 14 RANGE 34 CA	LLED OUT ONLOCATION JOB START JOB FINISH
LEASE Baker- Well# 1-22 LOCATION MORILIN	COUNTY STATE
OLD OR NEW (Circle one) Rd 3W, N	irato
CONTRACTOR WIND TYPE OF JOB SUFFERE	OWNER Same
HOLE SIZE 12.14 T.D. 30.5	CEMENT
CASING SIZE 8578 DEPTH 363.46	AMOUNT ORDERED 190 SKS Com 31. CC
TUBING SIZE DEPTH   DRILL PIPE DEPTH	or I. get
TOOL DEPTH	- 1
PRES. MAX MINIMUM	COMMON. 190 SKS @ 17.90 3401.00
MEAS. LINE , SHOE JOINT CEMENT LEFT IN CSG. 15	POZMIX
PERFS.	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$
DISPLACEMENT 1866 HAD	ASC@
EQUIPMENT	@
$O$ $\overline{T}$	@
PUMPTRUCK CEMENTER Tan Deawer	@
# 431 HELPER'ISpandon Willingon	@
BULK TRUCK	@
#89//28/ DRIVER (Dails Highghy	@
# DRIVER	@(1)(0)(0)
	TOTAL 4169.10
REMARKS:	DISCOUNT 48% 2001.12
min 1905KS	SERVICE
Displace intinater	HANDLING 203. 37-14 @ 3.48 501. 63
	MILEAGE 7.38 405 x 30 mi x 2.75 173.85
<u>cannent did circ</u>	DEPTH OF JOB 323
Stal to pit	PUMP TRUCK CHARGE 1512125
thene you	EXTRA FOOTAGE
Powl + Circui	HV MILEAGE 30 @ 7.70 231.00
of the second	LV MILEAGE 30 @ 4.40 132.00
$\rho$ []	@
CHARGE TO: Culbreath	@
STREET	TOTAL 31. JO. 73
CITYSTATEZIP	DISCOUNT 48 % 15 12.35
	PLUG & FLOAT EQUIPMENT
	@
To: Allied Oil & Gas Services, LLC.	@
You are hereby requested to rent cementing equipment	@
and furnish cementer and helper(s) to assist owner or	@
contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	@
contractor. I have read and understand the "GENERAL	TOTAL
TERMS AND CONDITIONS" listed on the reverse side.	DISCOUNT%
	SALES TAX (If Any)
PRINTED NAME MARCHAIL	TOTAL CHARGES 7, 319.83
	DISCOUNT 3.513.51 (482) IF PAID IN 30 DAYS
SIGNATURE OLLIG TO C	NET TOTAL 3, 806.31 IF PAID IN 30 DAYS